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Run 5944 quartetwise, Asyms0 (Raw): All

x10 quartetwize_asym(
160 — _ Enlries 157294
u Mean —-h2&a7
140 [ Sid Dav  3.0892=+04
120 —
100 —
B0
60—
a0
20
'D I_ | | 1 | | | | | | | | | 1 | | | | | | I | 1 | I | | | | | }‘;1 ﬂa
—B000 —4000 —2000 0 20 4000 6000 B0OOD

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 19.704779)

Run 5944 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5944 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5844 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5944 quartetwise, Diffs0: All Run 5944 quartetwise, Diffs0: Beam OFF

guartetwise diff0 quartetwise_Dbeami_difo
30000 — _ Entries 157204 1800 - Entries 45626
— Mean -0.17648 — hMean 3.945p-05
- Std Dev  0.4109 - Std Dev  0.04233
25000 — =
- 1400 —
20000 — | 1200
u 1000 [—
15000 — =
- 1 800 —
10000 600 [—
- 400 —
5000 — -
N 200 —
l|::|_IIII|| |III IIIIIlIIIIl D_Illll_ll I|IIII|IIII|IIII|IIII|I ||J.III|
-2 -1 0 1 2 3 0.2 -0.15 0.1 -0.05 0 0.05 0.1 015 0.2
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 5944 quartetwise, Diffs0: Beam ON, Laser ON Run 5944 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beaml_las? ot quanebwise_beami_last diif
2400 — Entries 57517 — Entries 41787
— Mean —0.4543 1600 — Mean 0.0002574
2200 StdDev 0477 - SiDev  0.3435
2000 F 1400 [—
1800 — —
— 1200 —
1600 — N
1400 1000 {—
1200 == 800 —
1000 — ~
EI:}D:— E{!D_—
600 400 —
400 — [
— 200 —
200 — u
D:|||J_||l AN AN T T N N T N T O O A O ol 'D_"ll" PR SN TN N A T T TN T NN T NN T NN NN N B Lo
-2.5 -2 -1.5 -1 -0.5 0 0.5 1 1.5 2 -1.5 -1 -0.5 0 0.5 1 1.5

PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD



25000

20000

15000

10000

5000

5000

4000

3000

2000

1000

Run 5944 quartetwise, NegHelAccO/NSamples0:
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Run 5944 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 5844 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 5944 quartetwise, NegHelAccO/NSamples0: Bearm OM, Laser OFF
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Run 5944 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
= Entries 157294
— Mean 4542
— Std Dev 4111
T | 1 L1 | I T
0 2 4 B B 10 12 14

PosHelAccO/PosHelNSamplesD

Run 5944 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 5944 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5944 quartetwise, Sums0: All
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Run 5944 quartetwise, Sums0: Beam ON, Laser ON
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Run 5944 quartetwise, Sums0: Beam OFF
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